Homework 9
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2. Letw = 2 + z*. Then du = 4x® dx and z° dee = %du,
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5. Letu = cosf. Then du = —sin#df and sin #df = —du, so
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6. Letw = 1/z. Then du = —1/2” dz and 1/2® dz = —du. so
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10. Let w = 3t + 2. Then du = 3dt and dt = %du,so
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18. Let w = /=. Then du = ——=dx and 2du = —=dx, s0

f sin vz do = fsin u(2du) = —2cosu+C = —2cos vz + C.
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28. Letu = cost. Thendu = —sintdtand sintdt = —du, so [’ sintdt = [e* (—du) = —e" + C = —*** + C.
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32. Letw = Inz. Then du = (1/x) d, Sof dx = [sinudu= —cosu+ C = —cos(lnz) + C.
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44, Letu = x°. Then du = 2z dax, 50 L da =
1+ 2t

86. Let u = 2°. Then du = 2z da, s0 fﬂ? zf(z?) de = fﬂg fl:u)(%dtc) = % fngf(-u} du = %[—1} =2
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